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QUESTION 1

During a recovery of a table space in a data sharing environment, what value is used to coordinate the log records
across the DB2 members?

A. RBA

B. LRSN

C. ROWID

D. SYSPITRT

Correct Answer: B

QUESTION 2

In a data sharing environment, how is the LRSN value created?
A. It is selected from the DB2 catalog.

B. It is generated from a sequence object.

C. Itis derived from the sysplex timer (store clock).

D. It is derived from combining RBAs from multiple members.

Correct Answer: C

QUESTION 3

An EBCDIC table t1 and a UNICODE table t2 are joined by t1.col1=t2.col2. Which statement is true?
A. col2 is converted to EBCDIC

B. coll is converted to UNICODE

C. SQLCode-270: Function not supported

D. col2 and coll are converted to UTF-32

Correct Answer: B

QUESTION 4

The -DIS UTIL(REORGON) command was entered for a REORG utility with SHRLEVEL CHANGE with utilid
REORGON. Which statement is NOT true?

A. It shows how many keys are rejected when issued during the SORTBLD phase.
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B. It shows the elapsed time of the SWITCH phase when issued during the SWITCH phase.
C. It indicates how many parallel tasks are involved to build indexes when issued during the BUILD phase.

D. It shows an actual and estimated time of how far it has proceeded in the current iterations when issued during the
LOG phase.

Correct Answer: A

QUESTION 5

When specifying "A" for the acceptance option in the column SECURITY_IN in the SYSIBM.LUNAMES catalog table,
which statement is correct?

A. An inbound ID is subject to translation.

B. A request does not need an authentication token.

C. With this option, VTAM cannot be defined with SECACPT=ALREADYV.
D. For outbound requests, the encrypted password is extracted from RACF.

Correct Answer: B
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